EARAZROREIERT — 2 N—XBISY —F 202154868 (&) 1EIKR3H

B 3mB2—#H 5% 3m™ ‘ [xz] % ‘ [(ErmE] — | 4 (5 14000 &
[A&4£] 1 7 :500,000  ~ 23#%&:175,000  ~ 3 #&:100,000 @ .~ 4 37#&:50,000 @ 5 & :25,000
B ®RBE BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
< s — 0 =Xy : -1-1- - SHAREER (KIR)
1 9 I—FLHIZN— % 3 A 1.(3_1).4 1-1-1-1 | 41.2 1 :125) s
RHYIRT TR B ITFI—TAIER FIER  SRTHE
. = LR :31. —2-2- . — IR (KR)
2l7lg|H>Z7714Iy b I 1(73}:;5 ez ! (‘1872) 15 iBAH
RN T—I—b B:59>RKA—I st F1x
K . 4t 3 | $KHA 1:31.7 5-4-3-2 | 40.9| — 2 396 | MREHE— (BERE)
3lgl11| 7> rOv> 54.0 A 1/2) (-5) |HERHEA
Z:Nd B:ZX/—-K—-FOovw> AARPRERE = BSE RS
“ 5 4t 3 | WAEEEE 1:32.0 6-6-6-6 |40.6| — 3 453 | AR GKR)
4 6| YUHTF 54.0 (1 1/2) (+5) TEERD
NV Z v BV NFHA~ YA FHS
S _ o B3| AHIBE 1:32.4 9-9-5-5 |41.0| — 5 419 | RIIBRE (KR)
51810 A=F-Yzxv b 56.0 (2 1/2) 1) BN
RE =0 BTITLVIv b U5 &4
: 4 3 | EAE 1:33.0 3-3-4-4 |42.3| — 8 520 | &WE— (KiR)
617l 9|NA—YUF+—F 56.0 ) 45) | A
Z:a//Fv—K B:RKY—L/ix—)b KRS
TSRS R SRR : -9-9- - 122 ARBR (KiR)
7lsls| 7T—% oAy i 3 i 1.(35,).5 10-9-9-7 | 41.8 10 <3+727) e 7
L:gZ/F¥LLy b BivaH-U5T BE B
3 | Bz 1:33. -11-11- . - =BEE (KR)
8 4 <ILEDILA " 56.0 ¢ 1/27) =119 41.8 ! (4_737) ®EIES ’
L:b—trva—-4gr BIFI-TI— wA BIR
o o BARA :34. —-8-10- . — #HER (KR)
91111 TATATTA X 4 3 ﬁsa.?) (12314/21) 8-8-10-11 | 42.4 9 (3_988) e
RTLTANNE BRVIATFAvITIA b HAstt IUFCTr—4
- ROR— 134 77~ 9 - ERE (IR)
1wl 7| 7177v71 3 g% e e ° ?_O; e
L4725 v— B:IUT L [ia=Ese]
3 “ ; # 3 | BEB 1:34.7 4-4-8-9 | 43.4| — | 11 | 437 |ZEHEE KR
1 313 A1) A 54.0 (2 1/2) (1) EfERE=E
LYK YTYRIR BRI EX——7 EiRIS
@ 11— S —&EBlIEafz
13—7— (2,8),9,3,11,6,7,1,10,5,4
23—7— |2,8,9,(3,11),6,7,1,(5,10) ,4
30—74— 2,8,11,9,10,6,7,3,5,1,4
43— — 2,(8,11),9,10,6,5,7,(3,4) ,1
[ RNz
BB 2 230H 74 K 2-8 240M & 2-7 650M JEHE 2-8-11 770H
8 B 2 110 2-11 220M B = 2-8 630M K31 2-8-11 3,980M
8 120/ 8-11 340M B H 2-8 1,210
1 1009

ARICOVWTRDTEEERROODE. TR LIV,



